< A B AR RS — > 2023.4
PR BiiA PR BliA LT BliA

R FT 7 OF 440 | |/KfE 200cc (efT) 1,100 | |1 7No.1 1,800
R FT 7 2R 660 | [/Kf% 200ccHL g, (~Aheral) 900 | [F17No.2 2,900
R FT w7 AR 800 | |/Kf& 100cc (NI=AT) 990 | |[/17No.3 3,000
A FT 7 BR 950 | [/Kf4 100ccHLE: (A hwral) 790 | |7 A7No.4 3,100
A FT 7 6F 1,100 | [~"H~DH 200 | [F17No.5 3,300
Ao FT 7 8F 1,300 | [KFEFy>T 180 | |[F17No.6 2,200
RANT—RT > 600 | |-/—E/L 4B 30,800 | |1 ~7No.7 3,600
Vli=va 80 | |[f—E /3B 27,500 | [ 717 No.8 3,300
58 (42610, 4FE) 600 | |[/NEIF 2407 ¥ 18,700 | |71 7No.9 4,900
el (426£0) 600 | |/DNEIFE 7% 17,600 | |71 ~7No.10 3,800
RO FHcEoh 3FE| 700 | [FEEX 1,800 | |7 7No.11 4,600
LA/ TLZ/EEa$| 700 | |KE Ly 4,400 | |[F17No.12 4,800
kO —F2E 500 | [ZKFE/ Lk (7eL) 4,400 | | 17No.13 3,900
FOARES A 500 | |7#/]Lwb 6,200 | [BEF+v2 /A FO/SM 1,100
2—FT H—F 200 | |77 /LKRL 1,200 | |3EFv2 V& F3 1,350
Z—ET I — RN 110 | |7 /L /I 650 | [3EXvr /X F4/P4/M4| 1,400
FVR A4 950 | |BF(LyrFryFr—)| 950 | |[EXrL 2 4 1,900
FVh B4 1,100 | |Eifisz(2=&>h) 3,000 | [BEx+v> N2 F6/P6/M6| 1,700
FIVR A3 1,200 | [(EF2Vv7 600 | |#EXvL N2 S6 2,300
F1)VRB3 1,250 | |[&ARZ /) 200 | |AE%vo 32 F8/P8/MS8| 2,050
iR () 3,300 | |&AhH K 300 | [BEFvo 32 S8 2,700
JEAR (OK) 3,500 | B>\ TF £ 990 | |[#E3+¥> /3% F10/P10 2,620
8Bn % 300 | |y &/—Y— 1,800 | [sEx+vr % Fio/pi2/mi2 | 3,150
8By 700 | 7L —hd5HE /N (16cm) | 1,050 | [#EFpl Nz S12 4,300
A — R 4,400 | |7 —hdHX K(24.5cm)| 2,200 | [8Ex+> /32 F15/P15/M15 3,500
IS 250 | [vrr T TR 1,900 | |7 V=— 52 100ccc 1,600
OB N— 1S 400 | |IAL T TR 2,200 | [FV=2— 52 500cc 3,900
BENE 126N 1,400 | [LEL 47— (8%) 800 | |FYV=—Y3> 1000cc 5,900
AYXHErHT7—ar7 2,600 | [(KEED NN HF—T 1,700 | [# 23> 100cc 1,200
EnEEHIY 600 | | A BHA0(10%) 2,515 | |22 500cc 3,000
HLI A 150 s 1000cc 4,500
UM CI=N 200 JLX—7100cc 1,100
ARER 3tV 995 JLX—7500cc 4,400
AR (CK) 400
AR () (FF) 300 ¥/ AT = a—T DT
A (Rl 220 BRI BT =L ET,
KA CR- M) | 500
HY RGN 370
HYAR(OKR) 420
WY R 360




